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o NZHA2 RS 22,000& * 50AI2F *» 7H 7,700
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A & 0l & AF 2 E A A
A2 AL A ARD
Ha: memy
& F=HEZHHI (9 ® =)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
A= 8,558,097 6,317,215 2,240,882
= 5,857,500
< 898,944
Al 1,801,653
FE ke 1,152,780 1,216,560 A 63,780
< 17,250
Al 1,135,530
=HEZEH 125,000 279,400 A 154,400
SATHY S43E A B (sHE - ZANEYI 90,000 90,000 0
402 RIZ2EXt20l ™ 90,000 90,000 0
01 RIZE Xt 2 AL E = (REM &) 90,000 90,000 0
OglgEHl A 3,000,000& * 30= 90,000
dA=AFZ2 A 22 600 600 0
202 04 tl 600 600 0
01 = LH 4 Hi 600 600 0
O3&ex=AE=s a8
20,0003 = 2H « 153 600
T SEZHSARY 29 A 4,400 4,400 0
202 04l 4,400 4,400 0
01 S LHOYI 4,400 4,400 0
OOISUESASE ¥ FTHUNTAY YRXX
20,000 * 2% = 1103 4,400
22X & HotEE F2FY| 30,000 30,000 0
401 Al HIZ 201 8] 30,000 30,000 0
01 A& HI 29,400 29,400 0
LXNAES ABAES &
29,400,000& * 14 29,400
03 A& =2 I 600 600 0
OHEXNA=S AHAEE £
600,000& * 14 600
SSsTH2AC XA 946,100 865,700 80,400
< 17,250
Al 928,850
SANMY B43E s SsF 2 911,600 807,200 104,400
202 oddl 11,600 7,200 4,400
01 = LH 4 Hi 11,600 7,200 4,400
OBSFE(3IHAY Y2
20,000& = 3¥ = 1203l 7,200
ORESZHANNY ALET
20,000& = 28 = 1103l 4,400
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Oo=2s 900,000,000 = 1Al 900,000
A2 2=F A& 34,500 58,500 A 24,000
= 17,250
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= 17,250
Al 17,250
01 Al& B 34,500 58,500 A 24,000
Ooan2 dEA
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& 17,250
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AescEe SA X
DEI NNYH 7
S AIDIBIAIE Eel& 29 (2 &HH)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ofl At o %Eﬁ HR=2
o XIStAIE 2 (GIS) ZA2IAIAE (H/W) SX22
15,000,000& = 14 15,000
OZ2222 ¢ HMA 570
o == &H|I(VRS) E4I2
47,500 * 141 x 1200 570
202 044l 3,480 3,480 0
01 2L Y| 3,480 3,480 0
OZ22AdE2d 0| 20,000& x 3¥ * 583 3,480
401 A& HI L 204 HI 455,000 395,000 60,000
01 Al&H| 425,000 375,000 50,000

020168 At XS = GIS DB =

180,000,000& * 14 180,000
OSSHEXNDIEH) 8 AM

40,000,000& * 14l 40,000
OB AE et AZ AL (2X)

175,000,000& * 14 175,000
OXIGtAIZ = GIS DBEE T JH& ALY

30,000,000& = 14 30,000

03 A2 2 THHI 30,000 20,000 10,000
020168 At XS = GIS DB =

15,000,0008 = 14l 15,000
OB AR HAtE R=(2%)
15,000,0008 * 14l 15,000
C2YH=A OHAIEE &= 26,000 0 26,000
[ 6,000
Al 20,000
401 Al Y2 20| 26,000 0 26,000
= 6,000
Al 20,000
01 Al&H| 26,000 0 26,000
OZ22YZ=A CHUHAIEES =&
12,000,0002 * 14! 12,000
[ 6,000
Al 6,000
OER2HFA QHHAIEES &= (AHIFIH)
14,000,0008 * 14! 14,000
et =B FHel 47,320 27,320 20,000
NEEREX =& 21,000 11,000 10,000
201 YEre gy 21,000 11,000 10,000
01 AR 22| H| 21,000 11,000 10,000
Ot 2H| 21,000
oXX EREN =Y 22
200,000 * 100Z X 20,000
oXEME Y KX H 250,000 * 4LH 1,000




AescEe SA X
NEE NESEE 2o
Zstst NXIR Fe EERED
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
SRENEZERH2Y 1,680 1,680 0
201 £B-2d| 1,680 1,680 0
01 At 22l 1,680 1,680 0
ozdg=+¢ 1,680
CZREXNEERAVE 504 g
70,000 * 6Y 43 1,680
NEESHI|IEE 20,000 10,000 10,000
401 Al& I 28I 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
OXNESHIIEE FHl 20,000,000& * 14 20,000
ZEtst ARZBRFel 293 4,640 4,640 0
202 oddl 4,640 4,640 0
01 = LH o4 1l 4,640 4,640 0
OFsst NNIL Hal =30y
20,000& = 4% = 583 4,640
EXNe &858 2 184,880 92,380 92,500
= 98,000
Al 86,880
ANETHEZAAS (BX) 120,000 34,880 85,120
= 98,000
Al 22,000
401 Al& Bl 28I 120,000 0 120,000
= 98,000
Al 22,000
01 A& HI 110,000 0 110,000
OXI & THZ= AFAFAM 110,000,000& * 14 110,000
= 98,000
Al 12,000
03 Al 2 THHI 10,000 0 10,000
OXIETHEALALSE 2 OHYI 10,000,000& * 14 10,000
X &ETHZE AFA 64,880 57,100 7,780
201 L2l 31,400 0 31,400
01 At 22l 31,400 0 31,400
O e8| 30,000
SCHIAISXIABEE XNBSS>T
25,000,000& * 14! 25,000
oXEHMEAL EE=HZ 5,000& = 1,0000H 5,000
ozg=¢ 1,400
oXEMEAL 28 A3 2AH
70,000& = 10 =« 23| 1,400
202 o4dl 3,480 0 3,480
01 = LH o4 1l 3,480 0 3,480




43 AgrceER FAAE
M DEZE NEHEH 18
@ EXNS E2H 22 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OXNETIH=AL =& bl
20,000& = 3% = 583 3,480
401 Al HIZ 201 I 30,000 57,100 A27,100
01 A& HI 30,000 51,100 A 21,100
OXNETHZALALY Z=FZ  30,000,000& = 14 30,000
AEFEE AFUANMEA WS 53,260 62,000 A8,740
NEMA 22| Y 2 46,300 56,200 A 9,900
201 24l 36,200 36,200 0
01 At 2t 2l 2,000 2,000 0
O el 2,000
oRSUSIHY EE=S UM
2,000& = 1,000 2,000
02 232gHl 34,200 34,200 0
OA&ZEHl s Xl 34,200
oEIREX HEAAL(HW) SFXNE=
1,100,000& * 12&8 13,200
CRSUBEFZRAMAL(S/N) FXNES
120,000& » 3 A « 123 4,320
CHIUCH AYANAY SX2BS
120,000& * 128 1,440
cSEUALSI RAE=>
90,000& = 304 » 12& 3,240
CRSUEBSEFZRAMAL(HW) SFXNE+
1,000,000& * 12& 12,000
405 THabH S| 10,100 20,000 29,900
01 et ESFH S 10,100 20,000 A 9,900
OSgUISELS) 8,000,000 = 14l 8,000
OXts sl 2,100,000& = 14 2,100
A=TESH NHQRA MUA WS 293 Y| 6,960 5,800 1,160
202 4Hl 6,960 5,800 1,160
01 = LH A HI 6,960 5,800 1,160
OXl£ZES NXHUAMHIA MB FA 0L
20,0008 = 6% = 582/ 6,960
EXotA 2 212,410 135,998 76,412
= 68,312
Al 144,098
HESAIXI Db ZAL- & F 10,020 76,370 A 66,350
201 et 10,020 76,370 A 66,350
01 At 22l 10,020 76,370 A 66,350
Oget=EH| 7,220
oXJtAtE AN & ZAMHAEXR
70,0003 » 202 A 1,400




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
oXJtEciH & FHIR A
555,000& = 43| 2,220
oRSHEIIARS IYNT M
40,000& * 30& = 33 3,600
o=24d=+¢ 2,800
oHSAIIIRRNG HALY
70,000& » 8%H « 53] 2,800
Hgolds=Hzd 61,148 53,148 8,000
201 Let2dE] 5,148 5,148 0
01 At 22l 5,148 5,148 0
Oget=&H| 5,148
cHERES SZAEXI &4E ZHE I
== 1,000,000& = 42 4,000
oHESMNAR U ANY SI4aE
4,000& = 30A 120
oligRea XIlgER 3
100,000,000 = 2.5% * 150/365 1,028
207 RO 56,000 48,000 8,000
01 A7 39l 56,000 48,000 8,000
ONLRE=20 HLH S JJtAHL &oz2d
800,000& * 70A 56,000
EXNOHE 22l 23| 2,100 6,480 A 4,380
203 YR =&t 2,100 2,000 100
03 Al =T YR =& 2,100 2,000 100
OEXIHA mgael A=A
2,100,000 = 14l 2,100
HESAIXI SRFA 139,142 0 139, 142
= 68,312
Al 70,830
101 1244 dl 10,890 0 10,890
= 5,445
Al 5,445
04 JIZtHZ22HEE+ 10,890 0 10,890
OMNESAIRXI EEX
60,500& * 2% = 90 10,890
= 5,445
Al 5,445
201 et 119,452 0 119,452
= 58,547
Al 60,905
01 At 22l 119,452 0 119,452
O1.1JI& &¢4ZXI S22
229,053Z Xl / B9EZ Xl * 37,800 = 65% * 1. 89,720
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oM ¥ EHl+2lll 2,000,000& * 14 2,000
o J|Et Bt=EH| 5,517,000& = 14 5,517
O= &l 7,000& * 6H » 10 * 123 5,040
202 o4dl 10,990 12,150 A 1,160
01 = LH o4 1l 10,990 12,150 A 1,160
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N = 0l & At & Ml A

)
A D) (2 &HH)
- _ _ RE]
CHB B (EAH) - NEAY - BES Ol At 04 %Eﬁ HR=2
2,000,000 1,500,000 500,000
2,000,000 1,500,000 500,000
WEHH XS (FSE A 2,000,000 1,500,000 500,000
HWEHHX S (HE A D) 2,000,000 1,500,000 500,000
sSsd&s=2 2,000,000 1,500,000 500,000
[ HX=2EE2 2,000,000 1,500,000 500,000

2,000,000,000& * 14 2,000,000




g Al

A

A2 AL A 2D
mu: gte2o NN e
Hel: DiSdsk 22l tel &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlnE2
=S ,325,704 2,372,753 AA4T7,049
=2 240,000
< 18,000
Al ,067,704
S2se EF e ,325,704 1,372,753 AA4T,049
= 240,000
< 18,000
Al ,067,704
S&=T 22 ,265,704 1,372,753 A 107,049
2 240,000
Al ,025,704
oS4+ =222 47,000 47,000 0
201 2et24d] 37,000 37,000 0
01 At 22l 36,000 36,000 0
O+t 36,000
oF=HZA == 27,900,000 = 14 27,900
oc=md HRE= 100,000 * 14 100
oxtE U= 8,000,000 = 14l 8,000
02 2324l 1,000 1,000 0
Olts&=EAEE KA 22l
1,000,000& * 14| 1,000
206 = Hl 10,000 10,000 0
01 M2 4l 10,000 10,000 0
OAso 4,000
o A 8,400& * 250 2,100
SNy 4,500& = 200kg 900
o Al 50,000& = 204 1,000
ORaH=4837 1,000& = 1,000H 1,000
Olts&d=EAd RA2el 27 € M=
5,000,000& = 14 5,000
DlEa4+E0l8 SEE 2l 5,600 28,000 A22,400
301 et a = 5,600 28,000 A 22,400
IARPA S = = 5,600 28,000 A 22,400
ozz&(2x) A 350,000& = 169H 5,600
DS AT A&NA 22 570,104 410,610 159,494
101 @124l 70,104 60,610 9,494
04 J12tH 22 XS 70,104 60,610 9,494
OAlg el g 63,5003 * 929  12¢ 70,104
401 A& HIZ 201 Y| 500,000 350,000 150,000
01 A& HI 500,000 350,000 150,000
OAI&HI 500,000




A2 AL A 2D
mu: gte2o NN e
Sl DISASE B2 SREED
- _ _ RE]
AR .24 FHH .G (3H) - HEAY - BES Ol &F o4 %@ﬁ 2t
ollsS&ss =Z2IMA &L UM
150,000,000 * 14! 150,000
oISALET Al X2
200,000,000& = 1A 200,000
olls&4+% AlE GISDB 2=
150,000,000 * 14! 150,000
a4z 22 &8 2 8B4 300,000 300,000 0
401 Al HI L 204 300,000 300,000 0
01 Al&H| 300,000 300,000 0
ONlEa+E =232 DI L 24
300,000,000& = 1A 300,000
AR AL 343,000 587,143 A 244,143
= 240,000
Al 103,000
401 Al HI L E0HHI 343,000 587,143 A 244,143
= 240,000
Al 103,000
01 Al&H| 333,000 587,143 A 254,143
OAFRBETAIAE JHSALS
333,000,000 = 14 333,000
= 233,000
Al 100,000
03 Al 201 Y| 10,000 0 10,000
OARBETAE HEAIY
10,000,000& = 1A 10,000
= 7,000
Al 3,000
SEFANNE = ANEES 60,000 0 60,000
o 18,000
Al 42,000
s dAEQAD] WA 60,000 0 60,000
=} 18,000
Al 42,000
401 Al HI L £ 0HHI 60,000 0 60,000
& 18,000
Al 42,000
01 Al&H| 60,000 0 60,000
OLEEHAEAD WH 4,000,000 * 1500 A 60,000
& 18,000
Al 42,000
Ss(251) 1,000,000 1,000,000 0
WEAHAH XK= 1,000,000 1,000,000 0
LHEAHH K= 1,000,000 1,000,000 0
701 JIEIZ HENHEZ 1,000,000 1,000,000 0
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0ff &F Al 3 Al
Adsrces
MR E=(ot2=1)
LHEAHHKI = el xel)
% - 4 14
DS (3H) - A Ofl At o %Eﬁ HR=2
ot =1t 3,000,000 2,000,000 1,000,000
e S (ot2=1) 3,000,000 2,000,000 1,000,000
HEAHAH XK= 3,000,000 2,000,000 1,000,000
LHEAHH K= 3,000,000 2,000,000 1,000,000
701 JIEtSI H S 3,000,000 2,000,000 1,000,000
03 BIIEEE 3 3,000,000 2,000,000 1,000,000
Odte T A
000,000,000& = 3,000,000




